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Granted according to YR  — ZvINR RAUYR 9T TANT UMWY KRR
who maintains that it is immune from being x»u» others -

OVERVIEW

The 13 stated that according to XMW we reconcile the seemingly contradictory
statements of TTY7X "1 (that Ppwn can become Xnv, and that TPy 92 PPWAY RNV 1°X)
by differentiating between anxy nXmw (which they have) and 2R nX»w (which
they do not). mdoIN resolves an apparent difficulty.

mooIn anticipates a difficulty:
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Even though X''2 stated, ‘they (1Pw») have no a8»w at all’, so how can we say
(according to 2X1W) that X"1 maintains that "pwn can be XM 2pn?!

mMooIn responds; the reason X" said TPy 23 ARMIY 172 PX -
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That is because X''9, in 277> n90, is referencing the statement of w'9 who
says that if 0°Xnv 1"pwn came in contact with 192K, the P20 are 8»w; if however

the XAV 7Pwn came in contact with 2%, the 2°%> are =M. In response to the
statement of ¥"9, who maintains that Ppwn can be RXnvn others, X" responded that 780 077 PR
a°v 92 to be Rnwn others (even 19991X); however Ppwn can be IRmI0 2207,

SUMMARY
TPV 93 IRMIY 077 PR can mean regarding 0°nR Xnv?, depending on the context of
this statement.

THINKING IT OVER
It seems that moown disagrees with *"w1 in explaining p°y 22 pwn? RN PR
What is the reason for their disagreement?*

" The text in the X3 reads YRMWY X2 (not YRINYY XNWI).

2 5"3 1 wao raw 's. In our text of the 3N there is no mention of w"A. The °Xin there (o1 " 773 ", etc.) are
discussing whether 1"pwn can be 71077 11 2295 Rawn. W'Y,

? See M1 XA 7" WA,

* See anm MK (in the mnowr).
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